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2000 m + 5000 m + 1500 m = 8500 m
2ApdFELS = (APpBREFreff / &f0 )
( 2000 / 8500 )
(20 / 85)



B4Es = (5000 / 8500)
= (50/ 8)
CH4F~ = (1500 / 8500 )
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= (50 / 85)x( 1/ 4)
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CHELFLERI 2L = CHEFLS x(1/HA #K)
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blde & fg 4 % 5 500 m, 400 m. 200 m
a. 500 m 7 £ 4% & & f#=(5/34)x[500/(500+400+200) ]

= ( 25/ 314 )
b. 400 m 7 £ ¥~ & F#=(5/34)x[400/(500+400+200) ]
= (20 / 374)
c. 200 m &+ A g F=(5/34)x[200/(500+400+200) ]
= ( 10/ 374 )
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A+ B+ C = 3405.68+719. 5+719. 5

= 4844. 68 m
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A = [ 3405.68 /( 3405.68+719.5+719.5) ]
= 3405.68/(4844. 68)

= 70 / 100
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= 15 / 100 )
CH#= (719.5 / 4844.68 )
= (15 / 100 )
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A+B+C+D= ( 3405.68 + 719.5 + 719.5 + 870.7 ) =5715. 38
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A . (3405.68 / 5715.38 ) = 0.5958798890

B #: (719.5 / 5715.38 ) = 0.1258883923

C #: (719.5 / 5715.38 ) = 0.1258883923

Dr: (870.7 / 5715.38 ) = 0.1523433262
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=0. 1258883923 X (122.92 /719.5)

= ( 0.1258883923 ) X ( 0.1708408617 )
0.0215068814 (%7 ¢ ]:5%5:5\3”3 )
ZZA iRt Gff (Fﬁ#w 1*5%5)

1ﬁ> I

HHAFELRG




